No part of the candidate evidence in this exemplar material
may be presented in an external assessment for the purpose
of gaining credits towards an NCEA qualification.

L

|

01222 [IININNN

NZQA

NEW ZEALAND QUALIFICATIONS AUTHORITY
MANA TOHU MATAURANGA O AOTEAROA

QUALIFY FOR THE FUTURE WORLD
KIA NOHO TAKATU KI TO AMUA AO!

SUPERVISOR’S USE ONLY

Level 2 Economics, 2016

91222 Analyse inflation using economic
concepts and models

2.00 p.m. Tuesday 15 November 2016

Credits: Four

Achievement

Achievement with Merit

Achievement with Excellence

Analyse inflation using economic
concepts and models.

Analyse inflation in depth using
economic concepts and models.

Analyse inflation comprehensively using
economic concepts and models.

Check that the National Student Number (NSN) on your admission slip is the same as the number at the

top of this page.

You should attempt ALL the questions in this booklet.

If you need more room for any answer, use the extra space provided at the back of this booklet.

Check that this booklet has pages 2—11 in the correct order and that none of these pages is blank.

YOU MUST HAND THIS BOOKLET TO THE SUPERVISOR AT THE END OF THE EXAMINATION.

Merit

TOTAL| 15

ASSESSOR’S USE ONLY

© New Zealand Qualifications Authority, 2016. All rights reserved.
No part of this publication may be reproduced by any means without the prior permission of the New Zealand Qualifications Authority.



QUESTION ONE: CAUSES OF INFLATION

| “Weaker oil prices — depending on what's happening with the New Zealand dollar -
. tends to put downward pressure on inflation,” said a Westpac senior economist.

L

- Prom 1 January 2016, the price of cigarettes will increase by 10 per cent, the fourth and
final scheduled annual increase. The Government has yet to announce whether it will
commit to further annual price increases but has said it wants to make the country
smoke-free by 2025.

© Source: http://\-vww.radionz.cu.nz,’news/national,f29313'7/anti—smoking-advocate—cai}s-for—further—price—hikes,
29 December 2015,

Source: The New Zealand Herald, 8 Ianuarf 2016, p. B14,

(&)

Fully explain the different effects on the general price level measured by the Consumer Price
index (CPI) of weaker oil prices and an increase in the price of cigarettes.
In your answer, explain:

© how weaker oil prices can result in a change in inflation
v why an increase in the price of cigarettes may not cause a change in inflation.

- A weaker &l prices means q deceose price ot dils, The. cogt

of transfeind vaw materiol and gpools il be cheaper firms W_aho(
hougeholol could spendt less money ofl uehides Ginof shiPs The cost of
Hrovel will oke yeduce, as the oil Price has decreased. The decease,

m ol price, will leco{ to o olecrecse in geneval price level ( anof

ASSESSOR'S
USE ONLY

herefore will reduce. inflotion //ﬂ |

- An incease of 10 percenr in the price of cigarettes IS just @ a

in_one single. industry . It will affect few other industries

price change.

price level ondl will not_have an effect on +the general price
level of the whole market /7 T T
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(b) ()  On Graph One below, show the impact of weaker global oil prices.

(c)

3

Graph One: AD/AS model

Graph Two: AD/AS model
of the New Zealand economy
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The ANZ Bank expects the New Zealand dollar to decrease in value by year’s end.
Source: The New Zealand Herald, 8 January 2016, p. Bl4.

(i)~ On Graph Two above, show the impact of the decrease in the value of the New
Zealand dollar.

Use Graph One and Graph Two to compare and contrast the impact on inflation of a

decrease in the value of the New Zealand dollar with the impact of weaker global oil prices.
In your answer, fully explain:

how the decrease in the value of the New Zealand doliar would affect inflation

why the decrease in the value of the New Zealand doliar may have an impact on
inflation that is different from the impact of weaker global oil prices.

" As 4he value  of New Zealard olollar has ofecreases! bwt-. “+he obllav-
Lalue o cther comtr colimvies  oloes not change. , the import govols
Will become move. expensive as we couldl only use the same
amount of money éuy less 50-00(5. “Therefore. e plemand of ;}n/oarf
9m>e{s_ will fall as #* /s move expersive . Meancwhile, he. exports

gwtﬂk will b%‘:?@@w?bg?‘ﬁf_ AL it is cheaper- thew B olomegtic, 5000(5

n other cordmvy . Peopl'e ave willing to buy cheaper SPorts govels fom
B New Zeolandl, +herefore, the ofemand of <Xpoyt govefs jnereases

an ol alsg the Sxpovt p—e(_er'p-’rs . A& aegregote afemanal ADT- C‘_H‘]‘é\-}X‘M y

When import paymens (M) olecreases and  export receipts __{nc);—-eoxsejs?/

More space for this answer is available on the following page.
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R PSR R et i v v,

1‘1’ wi)) fec\o(‘it) an INee0sSE, |n agﬁrego\‘t-e o{fh’\dﬂd g}\own on +he
Groph e, AD shkrs 10 AD indeare an incvease. The veal GPP

shifts fom Y To ¥ . Gnd the Freva) price level sh}—{-?s S PL—erL’

- P The decesse value ?—E l!\]@w Zealand dollar has a dedtfterent
g

impact from the weaker” oil prices as the deaecse in NZ. dolar|

value oy -hagean happenes in New Zeclansl . It will lead! +o a
diféerent value of mports. ancl Sports guods anol indicate,
mflotion. Pt ciery dop Cowntvy n the world ave experiencl the
weaker alv\m] bil priceg, I+ will not medee o different between
OpOrT and SXpovt epoels because. tne. whier world i expervience
the <ome cGvent. Theve mi@h—r be minimal  ditferece petween Cowrtlvy
andl cowntry Tout T W't sffect s much os the decease uvalie

of New Zealand o(ﬁﬂav// . /
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QUESTION TWO: THE BUSINESS CYCLE AND DEFLATION

(@ On Graph Three below, clearly label an example of a recession. Label this point X.

(b) ()

(i)

éraph Three: The Business Cycle

% change A
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On Graph Four below, show the effect of a recession an either the AD or the AS curve.

Graph Four: AD/AS model of the New Zealand economy
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Use Graph Four to fully explain how a recession may lead to a period of deflation.
In your answer, include a definition of deflation.

A dAeflation is e a o(ecregggufbw_@miwgicc level! . You may
use the same. amount of money buy more., Szmo{s. In A yecession
+Hhe rate ot wnemployrment js ;hcr—easfﬂﬂ , the economic. activity

is ole:;t-eqsfng. Pecple a likely less willing 10 Sperol thelr money

+o Puvchase 31’)-00{8' onol Seyuices,

s S 552
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'F‘Yff\‘i will be §d1 less. @s-oels‘. Gmel 0N Ieg;_p-m{i—i- 'ﬂ\ey m)-@h_}

eut ot The empoyeed 10 pay less wage The jnecome. of hou seholols
W} {0l , <ome might even fose job. Fivms may wish o @ brrg olown

the Py{ce 1&)6;1 *t-o wmeer the agﬁke@acbe o[emano{ <O “Hnex could

sell goods n a lewer price ~Theretoe deflotion has beea b4 .'

W
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A slowdown of growth in China

China is important to New Zealand as a trading partner. Australia and China are our
rnain trading partners, and China is Australia’s main trading partner. Therefore, any
\ dlownturn in China will impact directly or indirectly on demand for our exports.

Source (adapted): httpi/fwww.rbnz, govt.nz/research_and_publications/speeches/2015/6012526.html

The downturn in China is likely to have a smaller impact on price levels than a
recession in Mew Zealand,

(¢)  On Graph Five below, show the impact of a downturn in China on either the AD or the AS
Curve.

Graph Five: AD/AS model of the New Zealand economy
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(d)

7

Use Graphs Four and Five to fully explain why a downturn in China is likely to have a smaller
impact on price levels than a recession in New Zealand.

A dowrtum in Ching will lesd] 4o o o(ec»eas:: 10 ePort Yeceipts |

Lue +o +he deceasing egonomic ac:hurt\} L China''s gemand
o ‘owfmg xXports ¢
¥port vecelpts . m;\g I\D CHLrGAnM , o oLecrease in export
receipts will lead o o a(ecx—ease. n AD. Shown u Groph T:a‘ue

P\rf-c. level 0&20—6&%@ {v?m PL o PL ! Z/ N
A owrturn in Esa Ching will [ileely ﬁéue a smaller impact os e
dowrrtiom in China waill only affect the, oCort MEIGE indlushies.,
Othey industries puoluces domestic. govols Lol ot be qﬁ‘ed‘eo(
as they dontt sell gocols 46 China. Bt a vesrecession in New
Zealanol couled affect anall of the indu@yiec as the toto
economic. activity of the Courdvy has ofecrensed . bt only export
nolstvies | every firme ore. suffering fom a lower eonomic
activity situation . Tnesefore. a recession in Mew Zealanol /s
/fke/y have o Grexter effect +han o olowrtirn n C/’)fnc//
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QUESTION THREE: THE IMPACTS OF DEFLATION

The rate of inflation in New Zealand has, in vecent years, been at historically low levels
and has been falling. This is evidence of a period of disinflation. There is real concern
about the possibility of deflation and its potential effects on the economy.

Compare and contrast the different effects of a period of deflation on:

. younger people saving to buy a first home AND oider people in retirement who use their
savings as a source of interest income

v New Zealand businesses producing for the New Zealand market AND New Zealand
businesses producing for export.

'S Yowwaey- FeoPle gqufns -t buy a {\'stg home will be, beitter off, as

the gehercd ch,r: level has been OLGC?‘QO\SMS \fouh(d"er people. '

Emo gap,rE haue. loeey\ mc:a-ecxsmg ua(b{e Cma( —H‘)fi}/

coud save for o SITSFE? chovter perlodl 7o buy e first home.

Also they might wait until +he Price goes Fvtbur olown 1o
Purc:ha&e, the. fivst home. It miﬁh*r not be o goool iolea +o

wart for foo fbmg_, because. ag soon gz the ofeflation rate
has a{ereaSeo( or there is an Nflation s theyr sauing will start

o [ose. value. qE,qin.// T
e (xhe Older ]DeoP]_e in vetyenent who wuse thelr tavings s G

couvce of inteyest income. Might ke woovse. off. As oin a ofefletdivh

“the vave of intevest may fll, tharsfore. —thay may not get

TR 0S Much nterest incowme  as ey . TTher prcome,

MAy Fall ana might br)ﬂj A i 7&&«’2//7:5/

/iwnﬁ as 7‘766 ey <ot a:fqﬁo\r"f" eté Az H%muc:)ﬂgu—oa(s
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e New Zealandf businese Pcdqcinj fov SPort might ke ketter
oA becouse +he deflation sHation orly happeneol in Naw Zealand
nov in the. other countvy As the price. lekelevel s decressing in New
Zealand, the <xport 3ooo(< Wil gko be cheePery PeoFIe n othey
Countvy Wil be willing 10 buy New Zeslond export Yother than
olomestic guwols . Due 4o 4 greacrer demard , R the export
business will h\qe_]y eon move revenue onol Pvaﬁ'%

y

Economics 91222, 2016

ASSESSOR'S
USE ONLY




Merit Exemplar for AS91222 (2016) Total Score 15

Question

Grade

Comment

1

M5

This is an M5 as the candidate has demonstrated a link between the depreciation
of the New Zealand dollar and aggregate demand through the change in export
receipts. An effective use of labels from the AD/AS model is evident, however on
balance it is an M5 not an M6, as the candidate has not correctly discussed the
price competitiveness of export receipts following a depreciation of the
dollar (e.g. export goods will become cheaper).

M5

In Question Two, the candidate has gained credit for his answer in -(d), as (b)
has not used the components of aggregate demand (consumption and investment)
nor labels to explain his answer. In (d), the candidate has effectively used
export receipts with a good use of labels (e.g. AD decreases from AD to AD’ and
price level decreases from PL to PL). It is not an M6, as the candidate should also
indicate that like (b) deflation has also occurred.

M5

This is also an M5, as the candidate has adequately discussed the effect of
deflation on one of the four scenarios. Thus, for older people using savings as a
source of investment income, the candidate has stated an effect (e.g. they may not
get as much interest income), given a reason {e.g. the rate of interest falls), and
implied an outcome (e.g. their quality of life will fall, as they cannot afford as much
as before). The other scenarios make at most only one point and, therefore, do not
contribute to a higher grade.
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